CHURRASQUEIRA (CE04) CE04-91.421.50667-B

Item Coédigo Descrigdo
1 00566-7 Parafuso (4,8mm)
2 21948-7 Chapa de Fritura
3 02065-7 Presilha p/ Fixagdo do Bulbo
4 02830-7 Resisténcia 2800W
5 18774-7 Etiqueta Heavy Duty
6 18950-7 Cantoneira de Fixagao
7 00635-7 Porca (6mm)
8 03503-7 La de Rocha
9 03530-7 Placa de Protegéo
10 21955-7 Gabinete
11 21988-7 Caixa de Gordura
12 17769-7 Termostato 300°C
13 00604-7 Porca (3/16")
14 18068-7 Rabicho PP 3x (1,5mm)
15 09436-7 Prensa Cabo
16 00642-7 Arruela Lisa (1/4")
17 00385-7 Parafuso (3/16")
18 01918-7 Pé de Nylon
19 00331-7 Parafuso (4mm)
20 17934-7 Lampada Piloto
21 02663-7 Manipulador
22 03507-7 Fundo
23 00643-7 Arruela (3/16")
24 23301-7 Arruela (4mm)
25 00596-7 Arruela de Pressao (3/16")
26 00621-7 Porca (1/4")
27 00383-7 Parafuso (3/16")
28 00594-7 Arruela (3/16”)

GCROYDON




	Página 1

